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L) Dgﬁne Control System? Compare open loop and closed loop systems and give two
practical example of each.(6M)
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b) Tllustrate how to perform the following in connection with block diagram reduction
rules. I) shifting summing point before the block II) Shifting take off point after the
block (4M)
Find the transfer function Vo(s)/Vi(s) of the given electrical network by writing
differential equations
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Obtain the transfer function of the given diagram by using Block Diagram reduction
rules
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The performance equations of a controlled system are givgn by the following set of
linear algebraic equations: (i) Draw the signal flow graph. (ii) Find the overall transfer
function X(s) / U(s) using Mason’s Gain Formula, [10] |cO1 | ;4
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| |Obtain the transfer function of the given diagram by using Block Diagram reduction [ g
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